Application theorem:
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If g(f(C)) lies on the opposite side of DE from F, then let h be the reflection across the line DE

Let g be the rotation around D by angle Zf (B)DE (where f(B) is on the same side of Df (B) as E )

Then by lines , , and , hogo f satisfies the conditions for

the conclusion to be true.

Construct circles C, and C, with centers A and D respectively, and with radius d (A, D), and let P be

a point in the intersection of C, and C,

Given triangles AABC and ADEF

Let f be the rotation around point P by angle ZAPD (where f (A) is on the same side of AP as D ).




then h(g(f(C))) lies on the opposite side of DE
from g(f(C))

then go f maps A to D and maps B to a point on

DE

then f(A)=D

then Dg(f(B))=DE

then go f satisfies the conditions for the conclusion
to be true

then ZAPf(A)= ZAPDand f(P)=P

then £f (B)Dg( f (B)) = £f (B)DE and
g(D)=D

then PA = Pf(A)

then go f isanisometry

then h(g(f(B)))=g(f(B))

then hogo f isanisometry

then Pf(A)=PD

then h(g(f(B))) € DE

then h(g(f(C))) lies on the same side of DE as F

then PA= f(P)f(A)

then h(g(f(A))) =g(f(A))=D

Because f isa rotation,

then g(f(A))=D

by theorem 1 and lines and Because @ is a rotation,

By theorem 1 and lines and Because f isanisometry,

By theorem 2 and lines and Since h is a reflection,

By theorem 8 and lines and ) Since h fixes points on DE ,and by line
By theorem 8 and lines and Since h fixes points on DE ,and by line

If g(f(C)) lies on the same side of DE as F then By lines and

by lines , and

By lines and By lines and
By lines and By lines and




